AVERAGE SUCCESSFUL BIDS - November 17, 2014

Clark County Forest

Snooice/Tyme	Vol	ume	Weighted	d Average	Hi	igh	Low	
Species/Type	tons	cords	per ton	per cord	per ton	per cord	per ton	per cord
Aspen Pulp	4452	1979	\$19.57	\$44.03	\$30.00	\$67.50	\$8.00	\$18.00
Aspen Bolts	570	253	\$27.63	\$62.16	\$34.00	\$76.50	\$9.00	\$20.25
Oak Pulp	5335	1940	\$15.51	\$ 4 2.66	\$30.00	\$82.50	\$6.00	\$16.50
Oak Bolts	2745	998	\$26.52	\$72.92	\$50.00	\$137.50	\$9.00	\$2 <i>4.7</i> 5
Mixed Hardwood Pulp	5346	2324	\$16.64	\$38.28	\$30.00	\$69.00	\$8.00	\$18.40
Spruce	70	35	\$36.48	\$72.96	\$36.48	\$72.96	\$36.48	\$72.96
Basswood Pulp	0	0	#DIV/0!	#DIV/0!	\$0.00	\$0.00	\$0.00	\$0.00
Mixed Hardwood Bolts	435	189	\$26.23	\$60.33	\$50.00	\$115.00	\$9.00	\$20.70
Jack Pine Pulp	1345	631	\$17.40	\$37.05	\$25.88	\$55.12	\$9.00	\$19.17
Red Pine Pulp	1115	496	\$28.77	\$64.73	\$29.50	\$66.38	\$16.00	\$36.00
White Pine Pulp	3682	1753	\$23.86	\$50.11	\$30.00	\$63.00	\$11.30	\$23.73
Red Pine Comingled	8865	3940	\$41.83	\$94.13	\$45.17	\$101.63	\$19.50	\$43.88
White Pine Comingled	960	457	\$35.79	\$75.15	\$40.80	\$85.68	\$30.00	\$63.00
Red Oak Sawlog	61	8.4	\$58	80.56	\$71	1.00	\$26	0.00
White Oak Sawlog	23	5.9	\$47	0.19	\$600.00		\$16	0.00
Black Oak Sawlog	1	41	\$29	8.58	\$40	00.00	\$11	0.00
Red Maple Sawlog	Red Maple Sawlog 8		\$33	37.50	\$35	0.00	\$30	0.00
Sugar Maple Sawlog	Sugar Maple Sawlog 0		#DI	IV/0!	\$0	0.00	\$0	.00
Mixed Hardwood Sawlog	84	4.7	\$26	2.57	\$300.00		\$12	0.00
Red Pine Sawlogs	1	70	\$20	00.00	\$200.00		\$200.00	
White Pine Sawlogs	64	1.3	\$17	75.66	\$19	00.00	\$12	0.00

TIMBER SALE BID RESULTS November 17, 2014

CLARK COUNTY FOREST

Tract						
Number	Qualified	Non-Qualified	High Bidder	Ap	praised Value	Bid Value
30-14	3	0	Tlusty Logging	\$	29,044.10	\$ 52,335.35
31-14	3	0	Northwest Hardwoods	\$	44,691.63	\$ 71,930.00
32-14	2	0	Tigerton Lumber	\$	23,696.85	\$ 34,822.50
33-14	3	0	Kuehn Forest Products	\$	8,964.70	\$ 11,850.00
34-14	7	0	Ule Logging	\$	36,287.50	\$ 73,832.00
35-14	4	0	Northwest Hardwoods	\$	144,816.18	\$ 260,853.00
36-14	0	0		\$	25,461.68	\$ -
37-14	4	0	Tlusty Logging	\$	23,438.80	\$ 42,973.90
38-14	1	0	Ule Logging	\$	12,038.00	\$ 16,960.00
39-14	2	0	Tlusty Logging	\$	6,332.66	\$ 15,085.00
40-14	4	0	Delaney Forest Products	\$	131,686.04	\$ 221,548.60
41-14	2	0	Lambert Forest Products	\$	24,230.80	\$ 31,729.30
42-14	4	0	Biewer Sawmill	\$	38,448.60	\$ 55,147.60
43-14*	8	0	Northwest Hardwoods	\$	72,050.20	\$ 143,608.80
44-14	0	0		\$	15,966.45	\$ -
45-14	3	0	Biewer Sawmill	\$	42,123.00	\$ 69,272.00
46-14	9	0	Twin Forest Products	\$	96,159.00	\$ 145,560.00
47-14	5	0	Biewer Sawmill	\$	36,365.80	\$ 56,139.00
48-14	0	1		\$	8,905.10	\$ -
49-14	4	0	Biewer Sawmill	\$	146,382.80	\$ 223,673.48
51-14	1	0	Martin's Forestry	\$	32,358.00	\$ 48,344.00
52-14	1	0	B & M Logging	\$	16,178.20	\$ 17,855.00
Totals	70	1		\$	1,015,626.09	\$ 1,593,519.53

^{*}lump sum

Number of Tracts Offered	22
Number of Tracts Receiving Bids	20
Number of Tracts with Qualifying Bids	19
Number of Tracts with No Bids	2

Total Number of Bids	71
Total Number of Qualifying Bids	70
Avg. Number of Qualifying Bids Per Tract	3.7

Total Appraised Value of Tracts Sold	\$ 965,292.86
Total Bid Value of Tracts Sold	\$ 1,593,519.53
Percent Increase Over Appraised Value	65%

Cord Equivalent Volume Sold	19,370.00
Average Cord Equivalent/Sold Tract	1019
Average \$ per Cord Equivalent Sold	\$ 82.27

Acres Sold	1,418.00
Average Acreage of Sold Tracts	75
Average \$ per Acre Sold	\$ 1,123.78

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: 30-14

Minimum Bid: 29,044.10

Tlusty Logging, Inc. Burkey's Lumber LLC Kuehn Forest Prod.

52,335.35 ☑ 46,109.75 29,160.00 🗆

Kuehn Fo	orest F	rod,	Inc 🗌	Tlusty Log	gging,	Inc.	Inc 🗌	Burkey's	Lumbe	r LLC	Inc 🗌
	Vol	Value			Vol	Value			Vol	Value	
20T-PW	110	15.000	1,650.00	20T-PW	110	23.570	2,592.70	20T-PW	110	15.000	1,650.00
10-PW	43	120.000	5,160.00	10-PW	43	150.000	6,450.00	10-PW	43	125.000	5,375.00
10-MR	5	120.000	600.00	10-MR	5	350.000	1,750.00	10-MR	5	375.000	1,875.00
10-00	48	180.000	8,640.00	10-00	48	385.000	18,480.00	10-00	48	425.000	20,400.00
20T-MX	420	13.000	5,460.00	20T-MX	420	19.570	8,219.40	20T-MX	420	15.660	6,577.20
15T-OB	225	10.000	2,250.00	15T-OB	225	25.770	5,798.25	15T-OB	225	21.910	4,929.75
20T-OO	540	10.000	5,400.00	20T-00	540	16.750	9,045.00	20T-OO	540	9.820	5,302.80
	Bid	Total:	29,160.00		Bid	Total:	52,335.35		Bid	Total:	46,109.75

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: 31-14

Minimum Bid: 44,691.75

Northwest Hardwoods Inc.

Martin's Forestry Frank Gurklis

Northwest	Hard	woods Inc.	Inc 🗌	Martin's F	orestr	у	lnc 🔲	Frank Gu	ırklis		Inc 🔲
	Vol	Value	-		Vol	Value			Vol	Value	
10-PW	104	190.000	19,760.00	10-PW	104	200.000	20,800.00	10-PW	104	140.000	14,560.00
10-MX	3	200.000	600.00	10-MX	3	300.000	900.00	10-MX	3	150.000	450.00
10-OW	16	450.000	7,200.00	10-OW	16	350.000	5,600.00	10-OW	16	200.000	3,200.00
10-OR	49	575.000	28,175.00	10-OR	49	450.000	22,050.00	10-OR	49	300.000	14,700.00
20T-PW	240	20.000	4,800.00	20T-PW	240	15.500	3,720.00	20T-PW	240	15.240	3,657.60
20T-MX	60	22.000	1,320.00	20T-MX	60	7.200	432.00	20T-MX	60	13.910	834.60
15T-OB	215	29.000	6,235.00	15T-OB	215	23.800	5,117.00	15T-OB	215	23.640	5,082.60
20T-00	240	16.000	3,840.00	20T-OO	240	7.200	1,728.00	20T-OO	240	10.910	2,618.40
	Bid	Total:	71,930.00		Bid	Total:	60,347.00		Bid	Total:	45,103.20

71,930.00 ☑ 60,347.00 □

45,103.20

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: 32-14

Minimum Bid: 23,696.85

Tigerton Lumber

Country Forest Products

34,822.50	V
28 158 00	П

Tigerton I	Lumbe	r	Inc 🗌	Country I	orest	Products	Inc 🗌
	Vol	Value			Vol	Value	
10-MR	2	300.000	600.00	10-MR	2	250.000	500.00
10-OW	6	325.000	1,950.00	10-OW	6	250.000	1,500.00
10-00	23	400.000	9,200.00	10-00	23	210.000	4,830.00
10-OR	37	400.000	14,800.00	10-OR	37	369.000	13,653.00
18T-PR	135	19.500	2,632.50	18T-PR	135	21.000	2,835.00
15T-OB	60	18.000	1,080.00	15T-OB	60	11.000	660.00
20T-00	380	12.000	4,560.00	20T-OO	380	11.000	4,180.00
	Bid	Total:	34,822.50		Bid	Total:	28,158.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: 33-14

Minimum Bid;

8,964.70

Kuehn Forest Prod. Bergman Logging

Russ Thums

Bergman Logging Inc 🗌			Kuehn Forest Prod. Inc			Russ Thu	Inc 🗌				
	Vol	Value			Vol	Value			Vol	Value	
18T-PW	50	5.000	250.00	18T-PW	50	30.000	1,500.00	18T-PW	50	17.600	880.00
18T-PR	330	27.000	8,910.00	18T-PR	330	30.000	9,900.00	18T-PR	330	24.330	8,028.90
20T-MX	10	5.000	50.00	20T-MX	10	15.000	150.00	20T-MX	10	15.000	150.00
20T-A	20	5.000	100.00	20T-A	20	15.000	300.00	20T-A	20	12.000	240.00
	Bid	Total:	9,310.00		Bid	Total:	11,850.00		Bid	Total:	9,298.90

11,850.00 🗹

9,310.00 🗆

9,298.90

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract:

34-14

Minimum Bid: 36,287.50

Ule Logging	73,832.00 🗹
Tlusty Logging, Inc.	67,339.20 🗆
Northwest Hardwoods Inc.	59,598.00 □
Dairyland Forest Prod.	56,006.00
Jump River Timber Company LLC	52,612.00 □
Tigerton Lumber	51,945.00
Burkey's Lumber LLC	48,828.60 □

				. <u> </u>	iikey	5 Luiiii	DEI LLC						40	,020.00	<i>)</i> 🗀			
Burkey's	Lumber	r LLC	inc 🗌	Northwes	t Hard	woods Inc.	Inc 🗌	Ule Logg	ing		Inc 🗌	Tlusty Lo	gging,	Inc.	Inc 🗌	Dairyland	Forest	Prod.
	Vol	Value			Vol	Value			Vol	Value		ŀ	Vol	Value			Vol	Value
10-PW	3.8	125.000	475.00	10-PW	3.8	190.000	722.00	10-PW	3.8	120.000	456.00	10-PW	3.8	155.000	589.00	10-PW	3.8	120.000
10-MR	7 :	274.000	1,918.00	10-MR	7	300.000	2,100.00	10-MR	7	120.000	840.00	10-MR	7	350.000	2,450.00	10-MR	7	300.000
10-OW	7.2	274.000	1,972.80	10-OW	7.2	450.000	3,240.00	10-OW	7.2	160.000	1,152.00	10-OW	7.2	450.000	3,240.00	10-OW	7.2	325.000
10-OR	18.4	350.000	6,440.00	10-OR	18.4	565.000	10,396.00	10-OR	18.4	260.000	4,784.00	10-OR	18.4	500.000	9,200.00	10-OR	18.4	425.000
20T-PW	20	10.000	200.00	20T-PW	20	21.000	420.00	20T-PW	20	30.000	600.00	20T-PW	20	26.570	531.40	20T-PW	20	19.500
20T-MX	270	15.660	4,228.20	20T-MX	270	22.000	5,940.00	20T-MX	270	30.000	8,100.00	20T-MX	270	25.570	6,903.90	20T-MX	270	19.500
15T-OB	100	21.910	2,191.00	15T-OB	100	29.000	2,900.00	15T-OB	100	30.000	3,000.00	15T-OB	100	26.750	2,675.00	15T-OB	100	19.500
20T-00	280	9.820	2,749.60	20T-OO	280	17.000	4,760.00	20T-OO	280	30.000	8,400.00	20T-OO	280	18.190	5,093.20	20T-OO	280	19.500
15T-AB	240	26.600	6,384.00	15T-AB	240	34.000	8,160.00	15T-AB	240	30.000	7,200.00	15T-AB	240	35.000	8,400.00	15T-AB	240	19.500
20T-A	1310	17.000	22,270.00	20T-A	1310	16.000	20,960.00	20T-A	1310	30.000	39,300.00	20T-A	1310	21.570	28,256.70	20T-A	1310	19.500
	Bid ⁻	Total:	48,828.60		Bid	Total:	59,598.00		Bid	Total:	73,832.00		Bid	Total:	67,339.20		Bìd	Total:
Jump Riv	er Timb	er Compa	any L Inc 🗌	Tigerton I	umbe	Г	Inc 🗌					,				,		
	Vol	Value			Vol	Value												
10-PW	3.8	120.000	456.00	10-PW	3.8	175.000	665.00											
10-MR	7 ·	130.000	910.00	10-MR	7	275.000	1,925.00											
10-OW	7.2	160.000	1,152.00	10-OW	7.2	275.000	1,980.00											
10-OR	18.4	280.000	5,152.00	10-OR	18.4	475.000	8,740.00											
20T-PW	20	14.100	282.00	20T-PW	20	20.000	400.00											
20T-MX	270	20.300	5,481.00	20T-MX	270	20.000	5,400.00											
1				ı				1										

100 20.300

240 20.300

1310 20.300

Bid Total:

20.300

280

2,030.00

5,684.00

4,872.00

26,593.00

52,612.00

15T-OB

20T-OO

15T-AB

20T-A

100 17.500

280 12.000

240 20.000

1310 17.500

Bid Total:

1,750.00

3,360.00

4,800.00

22,925.00

51,945.00

15T-OB

20T-00

15T-AB

20T-A

Inc 🔲

456.00 2,100.00 2,340.00 7,820.00 390.00 5,265.00 1,950.00 5,460.00 4,680.00 25,545.00 56,006.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: **35-14**

Minimum Bid: 144,816.18

Northwest Hardwoods Inc. **Dvorak Lumber Inc**

Country Forest Products

Tigerton Lumber

260,853.00 🗹

240,501.80 🗆

209,962.00

209,387.50 🗆

		7.0			,									,	
Northwes	t Hardy	woods Inc.	Inc 🔲	Dvorak Lı	umber	Inc	Inc 🗌	Tigerton I	umbe	r .	Inc 🗌	Country F	orest	Products	Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-PW	14.1	190.000	2,679.00	10-PW	14.1	240.000	3,384.00	10-PW	14.1	175.000	2,467.50	10-PW	14.1	120.000	1,692.00
10-MX	50.7	300.000	15,210.00	10-MX	50.7	315.000	15,970.50	10-MX	50.7	275.000	13,942.50	10-MX	50.7	200.000	10,140.00
10-OW	89.9	450.000	40,455.00	10-OW	89.9	435.000	39,106.50	10-OW	89.9	275.000	24,722.50	10-OW	89.9	200.000	17,980.00
10-OR	235	565.000	132,549.00	10-OR	235	510.000	119,646.00	10-OR	235	475.000	111,435.00	10-OR	235	550.000	129,030.00
20T-PW	60	21.000	1,260.00	20T-PW	60	17.850	1,071.00	20T-PW	60	30.000	1,800.00	20T-PW	60	18.000	1,080.00
15T-HB	140	35.000	4,900.00	15T-HB	140	25.000	3,500.00	15T-HB	140	20.000	2,800.00	15T-HB	140	18.000	2,520.00
20T-MX	960	22.000	21,120.00	20T-MX	960	19.450	18,672.00	20T-MX	960	20.000	19,200.00	20T-MX	960	18.000	17,280.00
15T-OB	430	29.000	12,470.00	15T-OB	430	25.000	10,750.00	15T-OB	430	17.500	7,525.00	15T-OB	430	14.000	6,020.00
20T-OO	910	17.000	15,470.00	20T-OO	910	14.050	12,785.50	20T-OO	910	12.000	10,920.00	20T-OO	910	14.000	12,740.00
15T-AB	90	34.000	3,060.00	15T-AB	90	25.000	2,250.00	15T-AB	90	20.000	1,800.00	15T-AB	90	14.000	1,260.00
20T-A	730	16.000	11,680.00	20T-A	730	18.310	13,366.30	20T-A	730	17.500	12,775.00	20T-A	730	14.000	10,220.00
	Bid	Total:	260,853.00		Bid	Total:	240,501.80		Bid	Total:	209,387.50		Bid	Total:	209,962.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: 37-14

Minimum Bid: 23,438.80

Tlusty Logging, Inc. Burkey's Lumber LLC **Ule Logging**

B & M Logging

42,973.90 ☑

35,390.20 □

32,370.00

23,740.00

Burkey's	Lumbe	r LLC	Inc 🗌	Ule Loggi	ng	- -	Inc _	B & M Lo	gging		Inc 🗌	Tlusty Lo	gging,	Inc.	Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-PW	6	150.000	900.00	10-PW	6	120.000	720.00	10-PW	6	150.000	900.00	10-PW	6	150.000	900.00
10-MR	1	300.000	300.00	10-MR	1	120.000	120.00	10-MR	1	150.000	150.00	10-MR	1	350.000	350.00
10-OW	9	300.000	2,700.00	10-OW	9	160.000	1,440.00	10-OW	9	170.000	1,530.00	10-OW	9	365.000	3,285.00
20T-PW	20	10.000	200.00	20T-PW	20	17.000	340.00	20T-PW	20	8.000	160.00	20T-PW	20	23.570	471.40
15T-HB	90	27.500	2,475.00	15T-HB	90	17.000	1,530.00	15T-HB	90	12.000	1,080.00	15T-HB	90	26.770	2,409.30
20T-MX	620	15.660	9,709.20	20T-MX	620	17.000	10,540.00	20T-MX	620	12.000	7,440.00	20T-MX	620	21.770	13,497.40
20T-OO	100	9.820	982.00	20T-OO	100	17.000	1,700.00	20T-OO	100	12.000	1,200.00	20T-OO	100	16.570	1,657.00
15T-AB	140	26.600	3,724.00	15T-AB	140	17.000	2,380.00	15T-AB	140	12.000	1,680.00	15T-AB	140	32.770	4,587.80
20T-A	800	18.000	14,400.00	20T-A	800	17.000	13,600.00	20T-A	800	12.000	9,600.00	20T-A	800	19.770	15,816.00
	Bid	Total:	35,390.20		Bid	Total:	32,370.00		Bid	Total:	23,740.00		Bid	Total:	42,973.90

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract:

38-14

Minimum Bid: 12,038.00

Ule Logging

16,960.00 ☑

L	Bid	Total:	16,960.00
20T-A	740	16.000	11,840.00
20T-00	80	16.000	1,280.00
20T-MX	220	16.000	3,520.00
20T-PR	20	16.000	320.00
	Vol	Value	
Ule Loggi	ng		Inc 🗌

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: **39-14**

Minimum Bid:

6,332.66

Tlusty Logging, Inc. Lambert Forest Products 15,085.00 ☑ 8,901.00

							oti ioaac
Tlusty Log	gging,	inc.	Inc 🗌	Lambert I	Forest	Products	inc _
	Vol	Value			Vol	Value	
10-PW	6	150.000	900.00	10-PW	6	120.000	720.00
10-MX	1	300.000	300.00	10-MX	1	120.000	120.00
10-00	4	300.000	1,200.00	10-00	4	120.000	480.00
20T-PW	92	23.770	2,186.84	20T-PW	92	19.000	1,748.00
20T-PR	95	23.770	2,258.15	20T-PR	95	19.000	1,805.00
20T-PJ	110	23.770	2,614.70	20T-PJ	110	19.000	2,090.00
20T-MX	81	17.770	1,439.37	20T-MX	81	6.000	486.00
15T-OB	10	25.770	257.70	15T-OB	10	6.000	60.00
20T-00	185	16.770	3,102.45	20T-00	185	6.000	1,110.00
20T-A	47	17.570	825.79	20T-A	47	6.000	282.00
	Bid	Total:	15,085.00	Ĺ	Bid	Total:	8,901.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: 40-14

Minimum Bid: 131,683.40

Delaney For. Pro. Biewer WI Sawmill **Lambert Forest Products** B & M Logging

221,548.60 🗹

217,928.90

153,359.55 □

138.208.50

,							_~99	9							,	<i>-</i>
В	& M Lo	gging		Inc 🗌	Biewer W	/I Sawı	mill	Inc 🗌	Delaney I	For. Pr	0.	Inc 🗌	Lambert	Forest	Products	Inc 🗌
		Vol	Value			Vol	Value			Vol	Value			· Vol	Value	
11	0-PW	380	150.000	57,000.00	10-PW	380	166,990	63,456.20	10-PW	380	185.000	70,300.00	10-PW	380	120.000	45,600.00
10	0-PR	170	150.000	25,500.00	10-PR	170	186.000	31,620.00	10-PR	170	200.000	34,000.00	10-PR	170	120.000	20,400.00
2	OT-PW	2250	12.030	27,067.50	20T-PW	2250	32.590	73,327.50	20T-PW	2250	25.880	58,230.00	20T-PW	2250	21.640	48,690.00
2	OT-PR	1000	12.030	12,030.00	20T-PR	1000	33.880	33,880.00	20T-PR	1000	29.500	29,500.00	20T-PR	1000	21.400	21,400.00
2	OT-PJ	270	12.030	3,248.10	20T-PJ	270	22.760	6,145.20	20T-PJ	270	25.880	6,987.60	20T-PJ	270	19.800	5,346.00
1:	5T-HB	55	12.030	661.65	15T-HB	55	20.000	1,100.00	15T-HB	55	50.000	2,750.00	15T-HB	55	27.130	1,492.15
2	XM-TC	820	12.030	9,864.60	20T-MX	820	7.000	5,740.00	20T-MX	820	16.800	13,776.00	20T-MX	820	9.450	7,749.00
1	5T-OB	65	12.030	781.95	15T-OB	65	20.000	1,300.00	15T-OB	65	50.000	3,250.00	15T-OB	65	22.700	1,475.50
20	OT-OO	160	12.030	1,924.80	20T-OO	160	7.000	1,120.00	20T-OO	160	14.500	2,320.00	20T-OO	160	6.000	960.00
20	DT-A	30	4.330	129.90	20T-A	30	8.000	240.00	20T-A	30	14.500	435.00	20T-A	30	8.230	246.90
		Bid	Total:	138,208.50		Bid	Total:	217,928.90		Bid	Total:	221,548.60		Bid	Total:	153,359.55

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: **41-14**

Minimum Bid: 24,231.35

Lambert Forest Products

B & M Logging

B & M Lo	gging		Inc 🗌	Lambert I	orest	Products	Inc 🗌
	Vol	Value			Vol	Value	
10-PW	33	168.000	5,544.00	10-PW	33	120.000	3,960.00
20T-PW	700	14.070	9,849.00	20T-PW	700	22.100	15,470.00
20T-PJ	390	14.070	5,487.30	20T-PJ	390	22.100	8,619.00
20T-MX	135	14.070	1,899.45	20T-MX	135	15.830	2,137.05
15T-OB	35	14.070	492.45	15T-OB	35	13.830	484.05
20T-OO	55	14.070	773.85	20T-OO	55	13.830	760.65
20T-A	35	8.070	282.45	20T-A	35	8.530	298.55
	Bid	Total:	24,328.50		Bid	Total:	31,729.30

31,729.30 🗹

24,328.50

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: **42-14**

Minimum Bid: 38,448.60

Biewer WI Sawmill Wiitala Vozka Log Kuehn Forest Prod. 55,147.60 ☑

44,710.00

43,100.00 🗆

39,927.50 □

B & M Logging

-					TO 431 14										
Wiitala V	ozka L	og	Inc 🔙	Kuehn F	orest F	rod.	Inc 🔙	Biewer W	/I Sawr	mill	inc 🗌	B&MLo	gging	•	Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-00	8	130.000	1,040.00	10-00	- 8	150.000	1,200.00	10-00	8	180.000	1,440.00	10-00	8	267.000	2,136.00
18T-PW	250	31.000	7,750.00	18T-PW	250	30.000	7,500.00	18T-PW	250	32.000	8,000.00	18T-PW	250	26.670	6,667.50
18T-PR	1120	31.000	34,720.00	18T-PR	1120	30.000	33,600.00	18T-PR	1120	39.480	44,217.60	18T-PR	1120	26.670	29,870.40
15T-OB	50	15.000	750.00	15T-OB	50	10.000	500.00	15T-OB	50	25.000	1,250.00	15T-OB	50	15.670	783.50
20T-OO	30	15.000	450.00	20T-00	30	10.000	300.00	20T-OO	30	8.000	240.00	20T-00	30	15.670	470.10
	Bid	Total:	44,710,00		Bid	Total:	43.100.00		Bid	Total:	55.147.60		Bid	Total:	39.927.50

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

116,944.70

0.00

0.00

0.00

0.00

0.00

0.00

116,944.70

Inc Kuehn Forest Prod.

LumpBi

10-PW

10-OW

10-OR

20T-PW

15T-OB

20T-OO

Vol

1.4

97.8

83.4

10

620

780

Bid Total:

Bid Comparison Report

Tract: 43-14

Minimum Bid: **72,050.20**

Northwest Hardwoods Inc. 143,608.80 🗹 **Yoder Logging** 135,104.00 **Country Forest Products** 117,848.00 Tlusty Logging, Inc. 116,944.70 B & M Logging 108,536.90 □ Dairyland Forest Prod. 107,100.00 **Tigerton Lumber** 94,273.00 Kuehn Forest Prod. 84,845.00

Yoder Lo	gging		Inc 🗌	Northwes	t Hard	woods Inc	. Inc	B & M Lo	gging		Inc 🗌	Tlusty Log	gging,	Inc.
	Vol	Value		[Vol	Value			Vol	Value			Vol	Value
LumpBi	1	104.000	135,104.00	LumpBi	1	608.800	143,608.80	LumpBi	1	536.900	108,536.90	LumpBi	1	944.700
10-PW	1.4	0.000	0.00	10-PW	1.4	0.000	0.00	10-PW	1.4	0.000	0.00	10-PW	1.4	0.000
10-OW	97.8	0.000	0.00	10-OW	97.8	0.000	0.00	10-OW	97.8	0.000	0.00	10-OW	97,8	0.000
10-OR	83.4	0.000	0.00	10-OR	83.4	0.000	0.00	10-OR	83.4	0.000	0.00	10-OR	83.4	0.000
20T-PW	10	0.000	0.00	20T-PW	10	0.000	0.00	20T-PW	10	0.000	0.00	20T-PW	10	0.000
15T-OB	620	0.000	0.00	15T-OB	620	0.000	0.00	15T-OB	620	0.000	0.00	15T-OB	620	0.000
20T-OO	780	0.000	0.00	20T-OO	780	0.000	0.00	20T-OO	780	0.000	0.00	20T-OO	780	0.000
	Bid	Total:	135,104.00		Bid	l Total:	143,608.80]	Bid	l Total:	108,536.90		Bid	Total:
Dairyland	Fores	t Prod.	Inc 🗌	Tigerton I	umbe	r	Inc 🗌	Country F	orest	Products	Inc 🗌			
	Vol	Value			Vol	Value			Vol	Value				
LumpBi	1	100.000	107,100.00	LumpBi	1	273.000	94,273.00	LumpBi	1	848.000	117,848.00			
10-PW	1.4	0.000	0.00	10-PW	1.4	0.000	0.00	10-PW	1.4	0.000	0.00			
10-OW	97.8	0.000	0.00	10-OW	97.8	0.000	0.00	10-OW	97.8	0.000	0.00			
10-OR	83.4	0.000	0.00	10-OR	83.4	0.000	0.00	10-OR	83.4	0.000	0.00			
20T-PW	10	0.000	0.00	20T-PW	10	0.000	0.00	20T-PW	10	0.000	0.00			
15T-OB	620	0.000	0.00	15T-OB	620	0.000	0.00	15T-OB	620	0.000	0.00			

20T-00

780

Bid Total:

0.000

0.00

117,848.00

0.00

94,273.00

780

Bid Total:

0.000

0.00

107,100.00

20T-00

780

Bid Total:

0.000

20T-00

Inc

0.00

0.00

0.00

0.00

0.00

0.00

84,845.00

84,845.00

Value

0.000

0.000

0.000

0.000

0.000

0.000

1 845.000

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: **45-14**

Minimum Bid: 42,123.00

Biewer WI Sawmill Wiitala Vozka Log

B & M Logging

69,272.00 ☑ 53,310.00 51,141.10

					-09900	3				
ging		Inc 🗌	Biewer W	I Sawn	nill	Inc 🗌	Wiitala Vo	ozka Lo	g	Inc 🗌
Vol	Value			Voi	Value			Vol	Value	
180	30.070	5,412.60	18T-PW	180	40.800	7,344.00	18T-PW	180	31.000	5,580.00
1510	30.070	45,405.70	18T-PR	1510	40.800	61,608.00	18T-PR	1510	31.000	46,810.00
40	8.070	322.80	20T-A	40	8.000	320.00	20T-A	40	23.000	920.00
Bid 1	Total:	51,141.10		Bid	Total:	69,272.00		Bid	Total:	53,310.00
	Vol 180 1510 40	Vol Value 180 30.070 1510 30.070	Vol Value 180 30.070 5,412.60 1510 30.070 45,405.70 40 8.070 322.80	ging Inc Biewer W Vol Value 180 30.070 5,412.60 18T-PW 1510 30.070 45,405.70 40 8.070 322.80 20T-A	ging Inc Biewer WI Sawn Vol Value Vol 180 30.070 5,412.60 18T-PW 180 1510 30.070 45,405.70 18T-PR 1510 40 8.070 322.80 20T-A 40	ging Inc □ Biewer WI Sawmill Vol Value Vol Value 180 30.070 5,412.60 18T-PW 180 40.800 1510 30.070 45,405.70 18T-PR 1510 40.800 40 8.070 322.80 20T-A 40 8.000	ging Inc ☐ Biewer WI Sawmill Inc ☐ Vol Value Vol Value 180 30.070 5,412.60 18T-PW 180 40.800 7,344.00 1510 30.070 45,405.70 18T-PR 1510 40.800 61,608.00 40 8.070 322.80 20T-A 40 8.000 320.00	ging Inc	ging Inc ☐ Biewer WI Sawmill Inc ☐ Wiitala Vozka Lo Vol Value Vol Value Vol 180 30.070 5,412.60 18T-PW 180 40.800 7,344.00 18T-PW 180 1510 30.070 45,405.70 18T-PR 1510 40.800 61,608.00 18T-PR 1510 40 8.070 322.80 20T-A 40 8.000 320.00 20T-A 40	ging Inc ☐ Biewer WI Sawmill Inc ☐ Wiitala Vozka Log Vol Value Vol Value Vol Value 180 30.070 5,412.60 18T-PW 180 40.800 7,344.00 18T-PW 180 31.000 1510 30.070 45,405.70 18T-PR 1510 40.800 61,608.00 18T-PR 1510 31.000 40 8.070 322.80 20T-A 40 8.000 320.00 20T-A 40 23.000

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: **46-14**

Minimum Bid: 96,159.00

Twin Forest Products, LLC	145,560.00 ☑
Krizan Trucking	140,555.00 □
Country Forest Products	135,447.50 □
Yoder Logging	135,285.00 🗆
Northwest Hardwoods Inc.	131,375.00 🗆
Tlusty Logging, Inc.	119,093.50 □
Tigerton Lumber	114,525.00 🗆
B & M Logging	110,675.50 🗆
Kuehn Forest Prod.	97,400.00

Tigerton I	_umbe	r	Inc 🗌	Country	Forest	Products	Inc 🗌	Twin For	est Pro	ducts, LL0	C Inc	Krizan Tr	ucking	**************************************	Inc 🗌	Kuehn F	Forest Prod.	Inc 🔲
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Voi Valu	ł
10-OW	6	275.000	1,650.00	10-OW	6	275.000	1,650.00	10-OW	6	600.000	3,600.00	10-OW	6	305.000	1,830.00	10-OW	6 400.0	00 2,400.00
10-OR	185	525.000	97,125.00	10-OR	185	610.000	112,850.00	10-OR	185	630.000	116,550.00	10-OR	185	625.000	115,625.00	10-OR	185 400.0	00 74,000.00
15T-HB	525	15.000	7,875.00	15T-HB	525	26.000	13,650.00	15T-HB	525	30.500	16,012.50	15T-HB	525	31.000	16,275.00	15T-HB	525 20.0	00 10,500.00
20T-OO	525		7,875.00	20T-OO	525	13.900	7,297.50	20T-00	525	17.900	9,397.50	20T-OO	525	13.000	6,825.00	20T-OO	525 20.0	00 10,500.00
		Total:	114,525.00			Total:	135,447.50	l i		Total:	145,560.00				140,555.00	ii	Bid Total:	97,400.00
B & M Lo	gging		Inc 🗌	Yoder Lo	gging		Inc 🗌	Tlusty Lo	gging,	Inc.	Inc 🗌	Northwes	t Hard	woods Inc.	. Inc 🗌			
	Vol	Value	1		Vol	Value			Vol	Value			Vol	Value		[
10-OW	6	167.000	1,002.00	10-OW	6	600.000	3,600.00	10-OW	6	500.000	3,000.00	10-OW	6	450.000	2,700.00	ĺ		
10-OR	185	467.000	86,395.00	10-OR	185	600.000	111,000.00	10-OR	185	500.000	92,500.00	10-OR	185	565.000	104,525.00			
15T-HB	525	25.670	13,476.75	15T-HB	525	28.500	14,962.50	15T-HB	525	26.750	14,043.75	15T-HB	525	29.000	15,225.00			
20T-OO	525	18.670	9,801.75	20T-OO	525	10.900	5,722.50	20T-00	525	18.190	9,549.75	20T-00	525	17.000	8,925.00	ĺ		
ı		Total:	110,675.50	1		Total:		1		Total:		1				4		

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: **47-14** м

Minimum Bid: 36,365.80

 Biewer WI Sawmill
 56,139.00 ☑

 Delaney For. Pro.
 46,582.00 □

 B & M Logging
 46,564.80 □

 Wiitala Vozka Log
 44,320.00 □

 J & J Forest Prod.
 38,460.00 □

Biewer W	/I Sawn	nill	Inc 🗌	B & M Lo	gging		Inc 🗌	J&JFor	est Pro	d.	Inc 🔙	Delaney I	or. Pro),	Inc 🗌	Wiitala V	ozka Lo	og	Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
20T-00	20	6.000	120.00	20T-OO	- 20	8.670	173.40	20T-OO	20	6.000	120.00	20T-00	20	14.500	290.00	20T-OO	20	15.000	300.00
18T-PR	1420	39.450	56,019.00	18T-PR	1420	32.670	46,391.40	18T-PR	1420	27.000	38,340.00	18T-PR	1420	32.600	46,292.00	18T-PR	1420	31.000	44,020.00
	Bid '	Total:	56,139.00		Bid	Total:	46,564.80		Bid	Total:	38,460.00		Bid	Total:	46,582.00		Bid	Total:	44,320.00
								i											

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: 48-14

Minimum Bid: 8,905.10

Russ Thums

8,905.00

Russ Thums Inc 🗸 Vol Value 20T-MX 15 17.810 267.15 20T-PR 485 17.810 8,637.85 Bid Total: 8,905.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: 49-14

Minimum Bid: 146,382.80

Biewer WI Sawmill Wiitala Vozka Log **B & M Logging** Delaney For, Pro.

223,673.48 🗹

189,128.00 □

173,355.58

151.822.00 □

1					7100170	<i>y</i> , , , , , , , , , , , , , , , , , , ,							101,	044.00	<i>-</i>
Biewer W	/I Sawr	nill	Inc 🗌	B & M Lo	gging		Inc 🗌	Delaney	For. Pr	0.	Inc 🗌	Wiitala V	ozka L	og	inc 🗌
	Vol	Value		:	Vol	Value			Vol	Value			Vol	Value	
10-OW	4	165.000	660.00	10-OW	4	167.000	668.00	10-OW	4	180.000	720.00	10-OW	4	170.000	680.00
10-OR	11	260.000	2,860.00	10-OR	11	367.000	4,037.00	10-OR	11	270.000	2,970.00	10-OR	11	270.000	2,970.00
20T-S	70	36.480	2,553.60	20T-S	70	24.670	1,726.90	20T-S	70	28.880	2,021.60	20T-S	70	32.500	2,275.00
18T-PW	480	36.480	17,510.40	18T-PW	480	24.670	11,841.60	18T-PW	480	28.880	13,862.40	18T-PW	480	37.100	17,808.00
18T-PR	4350	45.170	196,489.48	18T-PR	4350	34.670	150,814.48	18T-PR	4350	28.880	125,628.00	18T-PR	4350	37.100	161,385.00
20T-MX	60	8.000	480.00	20T-MX	60	13.670	820.20	20T-MX	60	14.500	870.00	20T-MX	60	21.000	1,260.00
15T-OB	80	25.000	2,000.00	15T-OB	80	15.670	1,253.60	15T-OB	80	50.000	4,000.00	15T-OB	80	12.500	1,000.00
20T-OO	140	8.000	1,120.00	20T-OO	140	15.670	2,193.80	20T-OO	140	12.500	1,750.00	20T-OO	140	12.500	1,750.00
	Bid	Total:	223,673.48		Bid	Total:	173,355.58		Bid	Total:	151,822.00		Bid	Total:	189,128.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: 51-14

Minimum Bid: 32,358.00

Martin's Forestry

48,344.00 ☑

Martin's F	Inc 🗌		
ĺ	Vol	Value	
10-PW	50	140.000	7,000.00
10-MX	23	230.000	5,290.00
10-00	45	230.000	10,350.00
20T-PW	180	11.300	2,034.00
15T-HB	150	9.000	1,350.00
20T-MX	1450	9.000	13,050.00
15T-OB	220	9.000	1,980.00
20T-OO	380	9.000	3,420.00
15T-AB	100	9.000	900.00
20T-A	330	9.000	2,970.00
!	Bid	Total:	48,344.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456





#SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report

Tract: **52-14**

Minimum Bid: 16,177.75

B & M Logging

17,855.00 ☑

B & M Lo	gging		Inc 🗌
İ	Vol	Value	
10-00	13	110.000	1,430.00
20T-PJ	575	9.000	5,175.00
20T-MX	240	9.000	2,160.00
15T-OB	110	9.000	990.00
20T-OO	530	9.000	4,770.00
20T-A	370	9.000	3,330.00
l	Bid	Total:	17,855.00